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3.7 Implicit Differentiation
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Newt Implicit Differentiation
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Basically ,
this is what happened . . .

Let y= (1+8) So we are going

¥ ( 1h47 ddxy °o°
° to " at as if "

we

know that the variable

of the function is x .

Now let's take the derivative of ys .
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Implicit Differentiation can be used to find y
' in equations

involving X 's &y's
,

without solving for y .
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Examples) Find the derivatives
.
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[Example 6) Find the slope of the curve at the indicated
point .
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Homework page 162 : I -8,9 - 10 , It -18
.


